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1 PIET )X 1,103,087,789) I [ &5 7 )1 &5 X 1,557,129] I 15 3 ) 1] 15 X 5,164,321
2 |RBIR™ 420,632,885 EHEBE R X 47218#EEH X 1,531,103
3 |R+ALERIL-LET 99,006,277 | EHEEF X 33,034 ETHRE 1,374,833
4 HEETREK 21,765,854t ETEIR X 248191 EMER R X 1,371,854
5 |HEMmBRK 17,740,529 F ~ i th 20,960)F ~ I T 1,034,480
6 |HEEE™ 15,905,425| =& 20416 =@ 877,854
7 |FEET 10,566,375|#4 E M A A X 20,134 EHERX 792,601
8 |=EEERZE)IIET 9,556,220t BT R X 19,350|fE/EH #B R 775,471
9 |HEERTIRKE 8,462, 823|#EMEIL X 15,005 iR Hh 744,197
10 |#iR™™ 7,202,349t R R X 14,66 7| ETHMARIIIX 701,164
11 HEERERT R RE 4,104,894 FFEH 14,294 ETHAEF X 691,632
12 J#EEmHRE 3,523,450 B 4A T EBFE AR HT 12,9341 EhE L X 560,320
13 | B4A_LERBR R AT 342501 7HEETHARIIX 11,919 EH R KX 549,137
14 |ETEFR 2945 112|H8EE T 10,984 #&iR 479,452
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17 |HRE_=HT 1,180,000) )11 w1 AR JR (X 8,338)/NAIRTH 268,383
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19 |EHh 888,154) B AA T &R iz a1 [ BT 5,847 RF0Hh 142,867
20 |#EETPERX 775,648 EHFIEX 4,937|#&#AH 137,606
21 |mERHET 729,643)/NEERE T 4,86 7)1 &5 1 A X 100,616
22 |EXmH 688,317 #&#EH 3,937 B4R T B %Al IR ET 84,571
23 |#EEHERX 622,754 = EEEREE 1| BT 3,920| = EEERSE ) I| BT 46,367
24 |igEHBILR 461,179|KF0mH 3,722| RHA T AR FS4RET 44,191
25 |/hEIRT 449,397 1| 5 TH R A X 2,225| B4R L AR R FHET 39,841
26 |fBEAT™ 443 059 EERSI T 141HEZEE T 32,449
27 |[HEEMEHRX 423,646)52 F 628|(FEIR T 13,461
28 |F~iaTH 413,108| &8 55958 Fh 6,948
29 |f&Emh 321 547|FBE™ 506] = ;mARZE L BT 2,079
30 |#EEm™ 254,797| B 4% £ B b H-HT 210| @ B 4w 652
31 PiEmRRER 233,241 |F B M 113)|& % 209
32 |EEfET™ 232,497\ EHEE )| BT 30) B fETh 116
33 |EEHHEX 220,064| = AR ZE ILET O|Z B ERE I HT 96
34 |HEERTIRX 170,509)| 8% = 1R R 0
35 |IEmZERX 163,803t EHEX o] R #A_L AR 1L AL BT 0
36 |iEmsREK 153,553 HEE R iR X ojgk=th 0
37 |R#A T ERFEARET 103,652| )11/ = HITX ojf#EEm AR 0
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4 |lghEER 52,391 [HETM#HA X oj B R Him X 0
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43 [BETRLETARX 46,001 | & — = HT o|Z B &R:EII#F 0
44 |#EEHRER 43,096 t&ETFX oIl =X 0
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48 |llg=ERX 23412 ETHHERX of = & — = BT 0
49 HEEHmEAX 17,8024 TH ojf&EmmX 0
50 |=;HARZELIET 13,228 EB K FEET | |EW NG 0
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52 |4\ EB %A IR BT 9,086|iEETRET BK ojf&E EmiEmX 0
53 |#&EMHAERX 1476|tEETERKX o4 0
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